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Question Id : 87827036076 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension



The following table shows the percentage (%) distribution of 12t class students scoring (i) 95%
and above marks, and (ii) between 90 - 95% marks, along with ratio of Girls to Boys among them
from six schools A-F of Delhi. Total number of students scoring 95% and above matks and between
90 - 95% marks are 6000 and 10000, respectively. Based on the data in the table, answer the
questions that follow.

School-wise Distribution of Students Based on Marks

Scoring 95'% and above Scoring between 90 - 95%
Gehod marks(6000) marks (10000)
I;Fr;f::l?f:s Girls : Boys ?:ﬁiﬁiﬁz Girls : Boys
A 13% I1:8 16% 32
B 18% bt 6% 1:4
C 17% B35 10% Bid
D 8% 7:1 28% 23
E 24% 5:4 21% g5
F 20% 5.8 19% 3:4

Sub questions

Question Number : 1 Question Id : 87827036077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For school E, the difference between the numbers of boys who scored 95% and above marks and
boys who scored between 90 - 95% marks is :

(1) 115

(2) 120

(3) 110

(4) 105

Options :
878270141841.1
878270141842. 2
878270141843. 3

878270141844. 4



Question Number : 2 Question Id : 87827036078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The number of gitls of school B who scored between 90 - 95 % marks is approximately
% of the number of girls of school D Who scored 95% and above marks.

(1) 2857
(2) 2246
(3) 29.95
(4) 3246
Options :

878270141845. 1
878270141846. 2
878270141847.3
878270141848. 4

Question Number : 3 Question Id : 87827036079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The number of bnys of schools E and F logelher who scored 95% and above marks 1s appmximal‘el}f
% less than the number of girls of schools B and E together who scored between

90 - 95 % marks.

(1) 24
(2) 26
(3) 20
4 22
Options :

878270141849. 1
878270141850. 2
878270141851. 3
878270141852. 4



Question Number : 4 Question Id : 87827036080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Average numbers of boys who scored between 90 - 95% marks from the schools A - E together is :

(1) 746
(2) 718
(3) 745
(4) 785
Options :

878270141853. 1
878270141854. 2
878270141855. 3

878270141856. 4

Question Number : 5 Question Id : 87827036081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of the number of boys of school C who scored between 90 - 95 % marks to the
number of boys who scored %% and above marks in the same school ?

4] &i

(2) 10:17
() 10:13
4 12:17
Options :

878270141857. 1
878270141858. 2
878270141859. 3

878270141860. 4



Question Id : 87827036076 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
el @ T8 fere et o B W (A-F) H e 12 H S (i) 95% 7 SEH aAfers, 7 (i) 90
05% o a1 31 T e T ferafoa o e (%) oo e 37 ereferal oft el o1 97 <
T 95% 1 349 S S WG 0 o 991 90 § 95% o ok T A o foreteqd & g
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TITieh! o SMTeI T ferforert ot fer-ae. foreeen ¢
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yfeve L
A 13% 11:5 16% 3:2
B 18% 5.7 6% 1:4
C 17% 3:5 10% 5:3
D 8% 7:1 28% 2:3
E 24% 5:4 2% 9:5
F 20% 5:3 19% 3:4

Sub questions

Question Number : 1 Question Id : 87827036077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Wl 95% 71 399 S T 0 el Tl 1 G S 90 W 95% o o9 S W A Al g
1 W F a1 foel i g 7

(1) 115

(2) 120

(3) 110

(4) 105
Options:
878270141841. 1
878270141842. 2
878270141843. 3

878270141844. 4

Question Number : 2 Question Id : 87827036078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e B 1 90 ¥ 95% o af o W F el crgial i1 He Tl D 95% 1 S S o
F 96 A 1 HE F A o Yo & 7
(1) 2857
(2) 2246
(3) 29.95
(4) 3246
Options :
878270141845. 1
878270141846. 2
878270141847.3

878270141848. 4

Question Number : 3 Question Id : 87827036079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e E S E H 95% 1 39 e T % ATl ekl 1 He el B S E W90 4 95% % a4 4% W
1 a1 et A WeH e foe yiewm a7

1)

) 2
(3) 20
H) 27

Options:

878270141849. 1
878270141850. 2
878270141851. 3

878270141852. 4

Question Number : 4 Question Id : 87827036080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el A T E T 5ol el # 90 §95% % a4 of T o At e o A g fo |7

(1) 746
(2) 718
(3) 745
(4) 785
Options :

878270141853. 1
878270141854. 2
878270141855. 3

878270141856. 4

Question Number : 5 Question Id : 87827036081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el C % 90 6 95% o afl 33 W &1 et el o Te SR 31 e o 95% A1 35 A o
I % At el i Hed ST

() 5:9

() 10:17
(3) 10:13

() 12:17
Options:
878270141857. 1
878270141858. 2
878270141859. 3

878270141860. 4

Sub-Section Number : 2
Sub-Section Id : 8782701525
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827036082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“When a pin pricks our finger we withdraw the pin”. Such kind of behaviour is termed as :
1) Emotional Instincts

)

3)  Biological Instincts
4) Intellectual Instincts

E Reflex Actions
[

(

Options :
878270141861. 1
878270141862. 2

878270141863. 3

878270141864. 4

Question Number : 6 Question Id : 87827036082 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

5 1 i Tt et o ot € 9 e i g o €' 3 YR o e 6 e T e
1) YETeHF T A

Options :

878270141861. 1
878270141862. 2
878270141863. 3

878270141864. 4

Question Number : 7 Question Id : 87827036083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ :  Problem based leam’mg is a learner centred a‘pproach.

Statement I1: In guided discnver}f learnmg students are encouragecl to construct their
understandmg without the assistance of teacher guided questions and directions

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2) Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270141865. 1

878270141866. 2

878270141867. 3



878270141868. 4

Question Number : 7 Question Id : 87827036083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141865. 1
878270141866. 2
878270141867. 3

878270141868. 4

Question Number : 8 Question Id : 87827036084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Teacher centred methods of teaching are more effective than learner centred
methods in promoting deep leamjng.

Statement Il ; Lecture method involves the use of Dpen-ended problems to encourage critical
thjnkjng and problem snlving.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

8782701418609. 1

878270141870. 2

878270141871. 3

878270141872. 4

Question Number : 8 Question Id : 87827036084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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8782701418609. 1
878270141870. 2
878270141871. 3

878270141872. 4

Question Number : 9 Question Id : 87827036085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Mr. Johnson wants to create a mind map for his students to help them understand the concept of
photosynthesis. Which of the following tools would be most suitable ?

(1) Mindmeister

(2
(3
(4

) Edpuzzle

) Nearpod

) Hot potato
Options :
878270141873. 1
878270141874. 2
878270141875. 3

878270141876. 4

Question Number : 9 Question Id : 87827036085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141873. 1
878270141874. 2
878270141875. 3

878270141876. 4

Question Number : 10 Question Id : 87827036086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which DTH channel deals with social science -1, social and behavioural sciences ?
(1) Channel - 02 - Sanskriti

(2) Chhanel - 06 - Vidhik

(3) Channel - 03 - Prabodh

(4) Vhannel - 05 - Prabandhan

=y

Options:

878270141877. 1
878270141878. 2
878270141879. 3

878270141880. 4

Question Number : 10 Question Id : 87827036086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfefas o 9 W 91 SeTvE 9a G faqr-1, T 6 SeeRws oM 9 gafd &7

Options :



878270141877. 1
878270141878. 2
878270141879. 3

878270141880. 4

Question Number : 11 Question Id : 87827036087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Identify the advantages of close-ended questions in survey research :

(A) They allow unusual responses to be derived.

(B) It is easy to process their answers.

(C) They reduce the possibility of variability in the recording of answers.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

() (B)and (C) Only
(3) (A) and (C) Only
(4) (A), (B) and (C)

Options :

878270141881. 1
878270141882. 2
878270141883. 3

878270141884. 4

Question Number : 11 Question Id : 87827036087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



T 9 i ST wo 3 el o TR i
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(1) Fad (A) ¥R (B)

(2) I (B) 3R (C)

(3) A (A) ¥R (Q)

4) (A), () 3R (O

Options:

878270141881. 1
878270141882. 2
878270141883. 3

878270141884. 4

Question Number : 12 Question Id : 87827036088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A researcher gives the following options to a respondent while asking a question during a survey.
[dentify the options which suffer from ambiguity :

(A) Very often

(B) Quite often

(C) Not very often

(D) Not at all

Choose the correct answer from the options given below :

() () (8)and (C) Only

®) ®) (0 and (D) Onl

(3) (A), (C) and (D) Only
@ (A) (B (O and D
Options :

878270141885. 1



878270141886. 2
878270141887. 3

878270141888. 4

Question Number : 12 Question Id : 87827036088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 1 % S T SR 9 TS W S el o e fofian foemen S €1 A foered o
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Options :

878270141885. 1
878270141886. 2
878270141887. 3
878270141888. 4

Question Number : 13 Question Id : 87827036089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the advantages of content analysis :
(A) It is a very transparent research method.

(B) It is often referred to favourably as an unobtrusive method.
(C) Itis a highly flexible method.

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B) and (C) Only

(3) (A)and (C) Only

(4) (A), (B) and (C)

Options:

878270141889. 1

878270141890. 2

878270141891. 3

878270141892. 4

Question Number : 13 Question Id : 87827036089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141889. 1

878270141890. 2



878270141891. 3

878270141892. 4

Question Number : 14 Question Id : 87827036090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When two variables are related in such a way that when one increases, so does the other, you can
conclude that :

(I)  There is no problem with directionality.

(2)  The two variables are positively associated.

(3)  There are no latent variables affecting the relationship.

(4)  There is a third variable responsible for the causation between them.
Options :

878270141893. 1

878270141894. 2

878270141895. 3

878270141896. 4

Question Number : 14 Question Id : 87827036090 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141893. 1



878270141894. 2
878270141895. 3

878270141896. 4

Question Number : 15 Question Id : 87827036091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the measures of dispersion :

(A) Range

(B) Quartile deviation

(C) Sum of the deviations about mean

(D) Standard deviation

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
(3)  (A), (B) and (D) Only
4) (A), (C) and (D) Only

Options :

878270141897. 1
878270141898. 2
878270141899. 3
878270141900. 4

Question Number : 15 Question Id : 87827036091 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270141897. 1
878270141898. 2
878270141899. 3
878270141900. 4

Question Number : 16 Question Id : 87827036092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The process by whicha messageis transmitted via some form of medium 1s identified as
communication :

(1) Formative

(2) Inter-connective
(3) Mediated

(4) Formal
Options :
878270141901. 1
878270141902. 2
878270141903. 3

878270141904. 4



Question Number : 16 Question Id : 87827036092 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141901. 1
878270141902. 2
878270141903. 3

878270141904. 4

Question Number : 17 Question Id : 87827036093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In analng media, contents are :
(1) Non-linear

(2) Linear

(3) Interactive

(4) Customised
Options:

878270141905. 1
878270141906. 2
878270141907. 3

878270141908. 4



Question Number : 17 Question Id : 87827036093 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141905. 1
878270141906. 2
878270141907. 3
878270141908. 4

Question Number : 18 Question Id : 87827036094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The western communication concept is characterised by :
(A) Polydirectionality

(B) Unidirectionality

(C) Transfer of meaning

(D) Message centredness

(E) Flexible sequencing

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (E) Only
(3) (A), (B) and (E) Only
(4) (B), (C) and (D) Only

Options:



8782701419009. 1
878270141910. 2
878270141911. 3

878270141912. 4

Question Number : 18 Question Id : 87827036094 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(3) A (A), (B) R (E)

(4) %9 (B), (C) 3R (D)

Options :

8782701419009. 1

878270141910. 2

878270141911.3

878270141912. 4

Question Number : 19 Question Id : 87827036095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [;  Due to technolngical developments, communication has become mass
communicahon,

Statement I1:  With the arrival of satellites and computers, communication has become more
efficient and complex than ever before.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270141913. 1

878270141914. 2

878270141915. 3

878270141916. 4

Question Number : 19 Question Id : 87827036095 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141913. 1

878270141914. 2



878270141915. 3
878270141916. 4

Question Number : 20 Question Id : 87827036096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I :  Environmental communication includes human representation of nature.

Statement Il For the purpose of promoting environmental communication, only mainstream
conventional media should be employed.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270141917. 1

878270141918. 2

878270141919. 3

878270141920. 4

Question Number : 20 Question Id : 87827036096 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270141917. 1

878270141918. 2

878270141919. 3

878270141920. 4

Question Number : 21 Question Id : 87827036097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Certain books are bought at prices ranging from 400 to T 500 per book and are sold at prices
ranging from ¥ 500 to ¥ 700 per book. Find the greatest possible profit that might be made in selling
10 books.

(1) %4000

(2) 3000

(3) ¥ 3800

(4) 7000
Options :
878270141921. 1
878270141922. 2
878270141923. 3

878270141924. 4



Question Number : 21 Question Id : 87827036097 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9 T 3400 BT 500 W G50 F F1 F R G T ¢ 4R T 500 B T700 T F R ST
fegel 281 ST €110 Geeeh] 1 feghl i 2 aen e e o9 9 ifsi|

(1) T 4000

(2) 3000
(3) 3800
(&) 7000
Options :
878270141921. 1
878270141922. 2
878270141923. 3

878270141924. 4

Question Number : 22 Question Id : 87827036098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A woman, while infroducing a man, says “His wife is the only daughter of my father”. How is that
man related to the woman ?

(1) Father in law

(2
3
(

) Brother in law
) Husband

4)  Brother
Options:
878270141925. 1
878270141926. 2
878270141927. 3

878270141928. 4



Question Number : 22 Question Id : 87827036098 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

T e, Th SIeH %1 U <0 §U aaki ¢, | 5ueh Uetl W b1 Chel o €1 39 S
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Options :

(
(
(

878270141925. 1
878270141926. 2
878270141927. 3

878270141928. 4

Question Number : 23 Question Id : 87827036099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
1,3,2,5,3,7,49:5,11,6 137

1) 15
2) 7
(3) 19
4) 8
Options:

878270141929. 1
878270141930. 2
878270141931. 3

878270141932. 4



Question Number : 23 Question Id : 87827036099 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A & TE gEen § yyEre g ((7) i gioenfta s G el Te a w2
1,3,2,53,7,4,9,511,6,13 7

(I) 15
(2) 7
(3 19
(4) 8
Options :

878270141929. 1
878270141930. 2
878270141931. 3
878270141932. 4

Question Number : 24 Question Id : 87827036100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain code :

(a) 3245 means "you must study hard’

(b) 567" means ‘hard work pays’

(c) 614" means ‘work and study’

Which of the following are the codes for ‘pays’ and "work” respectively ?

Choose the correct answer from the D]Jtii.‘ll'lS given below :

(1) 1&5
(2) 5&6
(3 7&6
4 4&5
Options:

878270141933. 1



878270141934. 2
878270141935. 3

878270141936. 4

Question Number : 24 Question Id : 87827036100 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
LEAE FEiC TR
(@) ‘3245 T 219 € ‘g T w=ET wE
(b) ‘567 F AL T ‘=< T s’
(c) ‘614’ 1 7Y T ‘9% 1w Wy’
frefafaa # ‘99" &R ‘aF FFI: FeFH T E?
Ir= feu U fasredi © 9 W& SO 1 994 FHIfAU ¢

(1) 1315
(2) 53R6
(3) 7#R6
(4) 43R5
Options :

878270141933. 1
878270141934. 2
878270141935. 3

878270141936. 4

Question Number : 25 Question Id : 87827036101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policeman goes 20 meters towards South and then tums to his right and walks 40 meters. He
again turns to his left and walks 10 meters. How far is he now from his starting point ?

(1) 37.5 meters

2) 50 meters

2
(3) 3042 meters
4)

4) 40 meters

Options:

878270141937. 1
878270141938. 2
878270141939. 3

878270141940. 4

Question Number : 25 Question Id : 87827036101 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e e gt i 4R 20 X e € o R o gt o e & o 40 TR T &
A T AR T & A 10 e o ¥ o A v fog  fee rw R

(1) 375

(2) 50"

(3) 3042 T

(4) 40 "

)
)

[

Options :

878270141937. 1
878270141938. 2
878270141939. 3
878270141940. 4

Question Number : 26 Question Id : 87827036102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

If the statement - “No professors are materialists” is given as true, then which of the fo]lowmg
statements could be inferred to be true ?

(I)  All professors are materialists.

(2) Some professors are materialists.

(3) Some professors are not materialists.
(4)  Some materialists are professors.
Options :

878270141941. 1

878270141942. 2

878270141943. 3

878270141944. 4

Question Number : 26 Question Id : 87827036102 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e 18 ff e Wiferae) el ¢ || 9 %1 FE) AR T ¢ 6 A ferfn H -4 e %1 5 o
ST T A ¢
(1) gt e s €|

() F8 MeATE e €|

(3) 9 WA S T ¢ |

(4) D Micere) e &)

Options :

878270141941. 1

878270141942. 2

878270141943. 3

878270141944. 4

Question Number : 27 Question Id : 87827036103 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement- “No professors are
materialists” ?

(I) Some non-materialists are not non-professors

(2) Some professors are non-materialists

(3)  All professors are non-materialists

(4)  All non-materialists are non-professors

Options :

878270141945. 1

878270141946. 2

878270141947. 3

878270141948. 4

Question Number : 27 Question Id : 87827036103 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfaa | H-91 e Ttk &9 § i mears sifreard T € F & e § )

(1) %8 TR-sfifeerae! T-TeAT 7 ¢
() T8 W - € |

(3) Tt e - sferar € |

(4) Tl - foaret R-meaT € |

Options :

878270141945. 1
878270141946. 2
878270141947.3

878270141948. 4

Question Number : 28 Question Id : 87827036104 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are so related that they cannot both be true, although they
can both be false ?

(A) No professors are materialists

(B) Some professors are materialists

(C) Al professors are materialists

(D) Some professors are not materialists

Choose the correct answer from the options given below :

(1) (A)and (C) Only

() (B)and (D) Only
(3 (B)and (C) Only
(4) (A) and (D) Only
Options :

878270141949. 1
878270141950. 2
878270141951. 3

878270141952. 4

Question Number : 28 Question Id : 87827036104 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141949. 1
878270141950. 2
878270141951. 3

878270141952. 4

Question Number : 29 Question Id : 87827036105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"To solve our transportation problems, we have to put more money into production of bicycles.
The CEO of ABCD Company limited says so. “Which of the following fallacy is committed in the
above argument ?

(I) Slippery Slope

(2) Appeal to Inappropriate Authority

(3) Ad Hominem
(

) Hasty Generalisation

ey

Options :
878270141953. 1

878270141954. 2



878270141955. 3

878270141956. 4

Question Number : 29 Question Id : 87827036105 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
" S T O WA o TR o B Wi o o T T 3R o foft i afe o
G & | e ¥ ) e fefee o 1 € o T e 1" ST A W et B @ 9
aﬁﬁmw%?
) (wHETH Fer
(2) STV YITEHT o1 377G
(3) A foum o
(4) fern SR
Options :
878270141953. 1
878270141954, 2
878270141955. 3

878270141956. 4

Question Number : 30 Question Id : 87827036106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

According to Classical Indian School of logic (Nyaya) which fallacy is commutted in the following
statement ?

“The sky rose is fragrant, because it is a rose like the rose on the earth”.

) Asidhrana

) Badhita
3)  Viruddha
)

ﬁﬁra}f{l siddha

2

(
(
G
(¢

Options :



878270141957. 1
878270141958. 2
878270141959. 3

878270141960. 4

Question Number : 30 Question Id : 87827036106 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR VI =41 Tk WA o SER e $99 § S 91 7 o foha 71 & 2
" STl el GriTed @ 2RdifeR 2 YeAl o e o G T TeE ¢

Options :

878270141957. 1
878270141958. 2
878270141959. 3

878270141960. 4

Question Number : 31 Question Id : 87827036107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion are incorrectly matched ?
(1)  LED - Light Emitting Diode

) CRT - Cathode Ray Tube

) LCD - Liquid Control Display

) VDU - Video Display Unit

Options :



878270141961. 1
878270141962. 2
878270141963. 3

878270141964. 4

Question Number : 31 Question Id : 87827036107 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141961. 1
878270141962. 2
878270141963. 3

878270141964. 4

Question Number : 32 Question Id : 87827036108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Businesses use ICT to build positive customer relations by :
(1) Calling customers at home
) Creating targeted marketing campaigns
3) Placing pop-up advertisements on web sites
) Sending unsolicited e-mails
Options :

878270141965. 1



878270141966. 2
878270141967. 3

878270141968. 4

Question Number : 32 Question Id : 87827036108 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefefian B @ T foft @ emm wemes Tew Tay fif 30 & o o 9 3 &1 7 #3 €

Options :

878270141965. 1
878270141966. 2
878270141967. 3
878270141968. 4

Question Number : 33 Question Id : 87827036109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement [ : (25)1{,j = (00100101)2
Statement 11 (00[}11[}11]2 & (18)1@

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

8782701419609. 1

878270141970. 2

878270141971. 3

878270141972. 4

Question Number : 33 Question Id : 87827036109 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FATL: (25, = (00100101),

AT :  (00011011), = (1B)y

W HYA & Tarw ¥, e U T faewedi #§ § w@ 39 9 S
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(3) YA I HA B, Wil T 11 378 ¢ |

(4) R I HHA B, Cifehd HUT I T €|

Options :

878270141969. 1

878270141970. 2

878270141971. 3



878270141972. 4

Question Number : 34 Question Id : 87827036110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is/are true ?
(A) BIOS is an example of Application Software
(B) A utfility software is an example of firmware
(C) Spyware is an example of malware

Choose the correct answer from the options given below :
(1) (A) Only

(2) (B) Only

(3) (C) Only

(4) (B) and (C) Only

Options :

878270141973. 1

878270141974. 2

878270141975. 3

878270141976. 4

Question Number : 34 Question Id : 87827036110 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 9 (A)

(2) 9 (B)

(3) 9 (Q)

(4) %99 (B) &R (O)
Options:

878270141973. 1
878270141974. 2
878270141975. 3

878270141976. 4

Question Number : 35 Question Id : 87827036111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding guided and unguided media in computer Networking
are correct ?

(A) Guided media transmission supports higher data speeds than unguided media transmission
(B) Guided media is subjected to less interference than unguided media

(C) Unguided media transmission is more secure than guided media transmission

Choose the correct answer from the options given below :

() (A)and (B) Only

(2) (A)and (C) Only

(3 (B) and (C) Only

(4) (A), (B) and (C)

Options :

878270141977. 1

878270141978. 2



878270141979. 3
878270141980. 4

Question Number : 35 Question Id : 87827036111 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
g eafd v v affim Hifen o sy o fefefign 8§ 4 99 @ oA 18 £
(A) Frefim wifea demm affim difem domm 91 qe § 34 21 wiE 1 AN F £
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() wfwfir e germ Frfim e o &t qom § afie g 2 2
el fou T feredl H § Wl S 1 T HI ;
1) o (A) &R (B)
2) 9 (A) &1 (C)
3) @ad (B) 3 (C)
) ()@ mQ
Options :
878270141977. 1
878270141978. 2
878270141979. 3

878270141980. 4

Question Number : 36 Question Id : 87827036112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the fD]lDWiJ‘lg statements are true about hardness in water ?
[t 1s caused b:.; ions of calcium and magnesium

(
(B) It is of two types-temporary and permanent

(C) Permanent hardness can easily be removed by heating the water
(D) Hardness causes scales in hot water pipe systems

(E) Hardness decreases the soap consumption

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2)  (A), (B) and (D) Only
3)  (B), (©) (D) and (E) Only
4) (Q), (D) and (E) Only
Options:

878270141981. 1
878270141982. 2
878270141983. 3

878270141984. 4

Question Number : 36 Question Id : 87827036112 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) %= (A), (B) 3R (D)

(3) %9 (B), (C), (D) 3 (E)

(4) ¥ (C), (D) ¥R (B)

Options :

878270141981. 1

878270141982. 2

878270141983. 3

878270141984. 4

Question Number : 37 Question Id : 87827036113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the full form of CBOD ?

(1) Comparative Biochemical Oxygen Demand
2
(3) Carbonaceous Biochemical Oxygen Demand
(4) Classified Biochemical Oxygen Demand

Common Biochemical Oxygen Demand

Options :

878270141985. 1
878270141986. 2
878270141987. 3

878270141988. 4



Question Number : 37 Question Id : 87827036113 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

.3, 37,21 (CBOD) %1 01 &9 &1 &2

(1) FrRfed Sraehfiehe SAedTeH ferre

(2) HIHA FETRIHRE STEdeH ferre

(3)  HEHEY SRR saRdSH femie

(4) FAHEES FECRTRd e fewig
Options :

878270141985. 1
878270141986. 2
878270141987. 3

878270141988. 4

Question Number : 38 Question Id : 87827036114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  RSPM are those suspended particulate matters (SPM) whose aerodynamic
diameter is more than 10 micron,

Statement I :  Fine particles are those SPM whose aerodynamic diameter is less than 2.5 micron.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(

4) Statement I is incorrect but Statement II is correct
Options:

878270141989. 1



878270141990. 2
878270141991. 3

878270141992. 4

Question Number : 38 Question Id : 87827036114 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141989. 1

878270141990. 2

878270141991. 3

878270141992. 4

Question Number : 39 Question Id : 87827036115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which one of the followjng is 1'espnnsible for the negative radiative [orcing or moling of the
atmosphere ?

(I) Water vapour
(2
i
(4

Tmpospheric Ozone

]

; Stratospheric Ozone
) Black carbon
Options :
878270141993. 1
878270141994. 2
878270141995. 3

878270141996. 4

Question Number : 39 Question Id : 87827036115 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) ¥ am
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Options :

878270141993. 1
878270141994. 2
878270141995. 3
878270141996. 4

Question Number : 40 Question Id : 87827036116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ :  Montreal pmtocol is a multi-lateral environmental agreement that regulates the
pmduction and consumption of neaﬂy 100 man made chemicals.

Statement I :  Montreal protocal is an international treaty designed to protect the environment,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options :

878270141997. 1

878270141998. 2

878270141999. 3

878270142000. 4

Question Number : 40 Question Id : 87827036116 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270141997. 1



878270141998. 2
878270141999. 3

878270142000. 4

Question Number : 41 Question Id : 87827036117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The first Indian Universities Commission (1902) was headed by :

(1) Gurudas Bannerjee

(2) Syed Hasan Bilgrami

(3) William Adam

(4) Thomas Raleigh
Options:
878270142001. 1
878270142002. 2
878270142003. 3

878270142004. 4

Question Number : 41 Question Id : 87827036117 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ty Y favafeened 1@ (1902) & %A shid &2

(1) TESE sl
(2) HFE A oo
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(4) T
Options:

878270142001. 1

878270142002. 2



878270142003. 3

878270142004. 4

Question Number : 42 Question Id : 87827036118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing were established dur'mg the rule of East [ndia company in [ndia ?

(A) St.Stephen’s College, Delh

(B) Hislop College, Nagpur

(C) Fort William College, Calcutta
(D) Serampore College, Serampore
(E) Poona Sanskrit College, Pune

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
(3) (A), (B) and (E) Only
4) (C), (D) and (E) Only
Options :

878270142005. 1
878270142006. 2
878270142007. 3

878270142008. 4

Question Number : 42 Question Id : 87827036118 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142005. 1
878270142006. 2
878270142007. 3
878270142008. 4

Question Number : 43 Question Id : 87827036119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(Committee/Commission) (Chairman)
(A) Scientific Manpower Committee (1947) ()  KL. Shrimali
(B) Committee on Higher Education in rural areas  (II) 5.5. Bhatnagar
(C) Committee on Model Act for universities, 1961 (I} Sunith kumar chatterji
(D) Sanskrit Commission (IV) D.S Kothari

Choose the correct answer from the options given below :
(1) (AHD), (B)-(I), (C-(), (D)-{IV)
(@ (A)HI, B0, (©)-(1v), (D))
(3 (1), (B)(IV), (1), (D)-(I)
( (

(A
) (A )
1) (AHIV), (BHIL), (CHIY, (D))

)
A)-
Options :
878270142009. 1
878270142010. 2
878270142011. 3

878270142012. 4

Question Number : 43 Question Id : 87827036119 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teft-1 ¥ get-11 1 Tl it

Tl Tl

( wfifer /2T ) (3reag)
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(1) (A)(D), (B}, (CHIW), (D)-IV)

(2) (A, B)-0), (CH1V), (DHI)
() (AR, BHIV), (OAD), (D}I)
(4)  (ARIV), (B)-(I), (OAH), (D)-0)

Options :

878270142009. 1
878270142010. 2
878270142011.3
878270142012. 4

Question Number : 44 Question Id : 87827036120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [ ;  The ancient university of Sridhanya katak was situated on the banks of river
Yamuna.

Statement II :  Sridhanya katak attained celebrity as the seat of both Brahmanical and Buddhist
learning during the time of Siddha Nagarjuna.

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect

3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270142013. 1

878270142014. 2

878270142015. 3

878270142016. 4

Question Number : 44 Question Id : 87827036120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142013. 1



878270142014. 2
878270142015. 3

878270142016. 4

Question Number : 45 Question Id : 87827036121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In 1948, under whose chaipersonship a University Commission was appointed with the purpose
of reconstruction of university education to meet the demand for scientific, technical and other
manpower needed for the socio-economic development of the country ?

(1) Dr. Zakir Husain

(2) Dr. 5 Radhakrishnan

(3) Dr. AL Mudaliar

(4) Dr. DS. Kothari

Options :

878270142017. 1

878270142018. 2

878270142019. 3

878270142020. 4

Question Number : 45 Question Id : 87827036121 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:



878270142017. 1
878270142018. 2
878270142019. 3

878270142020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701526
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827036122 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage and answer the questions that follow :

Project Tiger turned 50 years recently. An often repeated headline was how the numbers have
increased from 2,967 individuals in 2018 to 3,167 in 2022. This hides the bitter truth : Indians
aren't going to compromise Western lifestyles for the survival of the Tiger. Most middle class Indians
would loathe to give up their second, investment home or driving to the hills on a multilaned
highway for the national animal.

You also can't change the needs of a tiger - it is a large, solitary animal. A female tiger needs
about 15 square kilometres with a good prey base. If she reproduces, those cubs will require
additional space. Data shows 30% of the tigers live outside protected areas, i.e in our midst. The
more we fragment their habitat with urbanization, highways and industrial parks, the more they
will be forced into unprotected areas.

Let's modify our approach. I advocate of three results by the 75th anniversary of project
Tiger. First, instead of endlessly increasing tiger population, India can iden t'Lfy and achieve a metric,
not much higher than the current numbers. Remember, 1000 tigers already roam around in farms
and villages, more will be a disaster. Second, let's better protect what we have. Keeping protected
tiger habitat undisturbed is key. Investment in keeping unprotected ecosystems intact should be
financially viable and part of Corporate Social Responsibility (CSR) and more. Third, reducing
confrontation with humans is essential. Monitoring and communications technology are key to
this. Compensation for live stock killed must be rapidly assessed and pegged to market rates. For
the next quarter century, let's think quality.

Sub questions



Question Number : 46 Question Id : 87827036123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Over the last few years, the population of the tiger has :
(1) Decreased

(2) Remained static

(3) Increased

(4) Declined substantially

Options :

878270142021. 1

878270142022. 2

878270142023. 3

878270142024. 4

Question Number : 47 Question Id : 87827036124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An increase in tiger population will result in :

(1) Tigers killing each other

(2) Tigers dying

(3) Tigers posing a threat to the farms and villages nearly
(4) Tigers eating their own cubs

Options :

878270142025. 1

878270142026. 2

878270142027. 3

878270142028. 4

Question Number : 48 Question Id : 87827036125 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“The bitter truth” refers to :

(1) Tigers living outside protected areas
(2) Human killing tigers

(3) The conflicting needs of human beings and tigers
(4) Tigers killing human beings

Options :

878270142029. 1

878270142030. 2

878270142031. 3

878270142032. 4

Question Number : 49 Question Id : 87827036126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the wiiter, one of the aims of project Tiger in the next quarter century should be :
(1) Increasing tiger population

(2) Training the tigers to live in a contained area

(3)  Protecting the existing tiger population

(4)  Ensuring that the government stops building highways
Options:

878270142033. 1
878270142034. 2
878270142035. 3
878270142036. 4

Question Number : 50 Question Id : 87827036127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the writer, the 75 Anniversary of project Tiger should not aim at the following :
(A) Keep the protected habitats infact

(B) Keep the tiger population about the same as at present

(C) Live stock killed by tigers should be adequately compensated for

(D) Focus on quantity instead of quality

Choose the correct answer from the options given below :

(1) (A)and (B) Only

@) () (C) and (D) Only

(3) (C) and (D) Only

4 () Only

Options :

878270142037. 1
878270142038. 2
878270142039. 3

878270142040. 4

Question Id : 87827036122 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827036123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
forat e il # ST o we
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Options :



878270142021. 1
878270142022. 2
878270142023. 3

878270142024. 4

Question Number : 47 Question Id : 87827036124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270142025. 1
878270142026. 2
878270142027. 3
878270142028. 4

Question Number : 48 Question Id : 87827036125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270142029. 1
878270142030. 2
878270142031. 3

878270142032. 4

Question Number : 49 Question Id : 87827036126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142033. 1
878270142034. 2
878270142035. 3

878270142036. 4

Question Number : 50 Question Id : 87827036127 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270142037. 1
878270142038. 2
878270142039. 3

878270142040. 4





